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Finding End Time Name:

Deter mine the ending time for each problem. Answers
EX) 4:10 + 1 hour and 40 minutes = .
1) 3:00 + 2hoursand 35 minutes = .
2) 1:20 + 3hoursand 25 minutes = ,
3) 2:05 + 1hourand 15 minutes = s
4) 1:05 + 1hourand 25 minutes = .
5) 1:30 + 2hoursand 45 minutes = 5
6) 525 + 3hours = 6
7) 1:45 + 3hoursand 20 minutes = -
8) 2:15 + 3hoursand 15 minutes = 8
9) 250 + 2hours = 0.
10) 1:00 + 1 hour and 25 minutes = 10
11) 3:35 + 3hoursand 5 minutes = 11
12) 6:00 + lhour = 12
13) 5:45 + 1hour and 20 minutes = 13.
14) 7:20 + 1 hour and 10 minutes = 14,
15) 4:25 + 3hoursand 30 minutes = 15.
16) 1:00 + 1 hour and 35 minutes = 16.
17) 1:25 + 3hoursand 25 minutes = 17.
18) 5:15 + 3hoursand 25 minutes = 18.
19) 5:35 + 1hour and 5 minutes = 19.
20) 3:25 + 1 hour and 10 minutes = 20.
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Finding End Time Name. Answer Key

Deter mine the ending time for each problem. ANnswers

EX) 4:10 + 1 hour and 40 minutes = .

1) 3:.00 + 2hoursand 35 minutes = 5:35 . 535
2) 1:20 + 3hoursand 25 minutes = 445 N 4: 45
3) 2:05 + 1hourand 15 minutes = 3:20 ) 3:20
4) 1:05 + 1hour and 25 minutes = 2:30 . 2:30
5) 1:.30 + 2hoursand 45 minutes = 4:15 . 415
6) 525 + 3hours = 8:25 N 375
7) 145 + 3hoursand 20 minutes = 5:05 . 505
8) 2:15 + 3hoursand 15 minutes = 5:30 6 5:30
9) 2:50 + 2hours = 4:50 o 4:50
10) 1:00 + 1hourand 25 minutes = 2:25 10 2:25
11) 3:35 + 3hoursand 5 minutes = 6:40 11 6:40
12) 6:00 + 1lhour = 7:00 12 7:00
13) 5:45 + 1hour and 20 minutes = 7:05 13 7:05
14) 7:20 + 1hour and 10 minutes = 8:30 14, 8:30
15) 4:25 + 3hoursand 30 minutes = 7:55 15, 755
16) 1:00 + 1 hour and 35 minutes = 2:35 16. 2:35
17) 1:25 + 3hoursand 25 minutes = 4:50 17, 4.50
18) 5:15 + 3hoursand 25 minutes = 8:40 18. 8:40
19) 5:35 + 1hour and 5 minutes = 6:40 19. 6:40
20) 3:25 + 1hour and 10 minutes = 4:35 20. 4:35

[ Math ] cocosheets.com/sheet/ 1251574 1-10 [95]90[85][80[75] 70[ 65 60] 55 [ 50

www.CommonCoreSheets.com 11-20[45]40(35[30|25] 20 15]10[ 5 | 0




	Worksheet
	Answer Key

